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QUESTION 1

Which of the following messages are exchanged between the MME and the SGW during the UE attachment procedure?
(Choose two)

A. Create Session Request / Create Session Response
B. Credit Control Request / Credit Control Answer

C. Attach Request/Attach Accept

D. Update Bearer Request / Update Bearer Response
E. Modify Bearer Request / Modify Bearer Response

Correct Answer: AE

QUESTION 2

Assume that dynamic PCC rules are used on the PGW. When an AF server initiates the establishment of a dedicated
bearer for a UE, which of the following messages are exchanged between the PCRF and the PCEF?

A. The RAR/RAA messages

B. The CSR/CSResp messages

C. The CCR/CCA messages.

D. The CSR/CSResp and the CCR/CCA messages
E. The CSR/CSResp and the RAR/RAA messages.

Correct Answer: A

QUESTION 3

Based on the information shown in the exhibit, which of the following is the PLMN ID?
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L:SGWA show mobile-gatevay serving us—context imzi 302T720123456789 detail
UE context detail

INSI 1 J02T72012345676893 State i ACTIVE

MEI ! 987654321055550 M3 ISDN : 0030201561378488
Network MCC ! a0z Network HNC 1 720

Tracking area id : Ox1011 Cell Id 1 Oxl

NALI : D3I02720123456789 epe .. mac072 .moe302 . 3gppnstwark. org

G/ Group/ Card L s RAT : EUTRAN

PIN contexts L mk Bearers A B

511 NNE cctrl TEID: Ox3ZSacl 811 SGE cerl TEID: Ox4100800

511 BRE ctrl addr: 10.10.2.2

511 86U ctrl addr: 10.10.2.1

Charging SGU address E e B v i T e

Inter ENB X2 HO : O Inter ENB 51 HO : D

51 relea=ze proca ; O Paging Attempts : 0

UE init svc reqg = O

Nusber of UEa : 1

A. 302

B. 720

C. 123456789
D. 9876543
E. 30201613
F. 302720

Correct Answer: F

QUESTION 4

Which of the following statements is FALSE regarding the keep alive messages exchanged between the CPM card and
an MG-ISM card?

A. The keep alive messages are exchanged between the CPM card and the active MG-ISM card.
B. The keep alive messages are exchanged between the CPM card and the standby MG-ISM card
C. The keep alive messages are exchanged between the active and standby MG-ISM cards.

D. The CPM card considers the MG-ISM card down if it misses 3 keep alive messages.

Correct Answer: C
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QUESTION 5

Which of the following statements is FALSE regarding the service request procedure?

A. The UE is always paged during a service request procedure.

B. The S1-MME signaling connection is reestablished for the UE as a result of a service request procedure.
C. The radio bearers are reestablished for the UE as a result of a service request procedure.

D. The S1 GTP-U tunnels are reestablished for the UE as a result of a service request procedure.

E. None of the above statements are false.

Correct Answer: A
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